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Zestaw 8
1. Rozwiaz uktady réwnan:
r+2y+3z=14 T+ y+22+3t=5
a) S 2r— y+ z=3 e) S 2r— y+ z+ t=3
—r+3y+2z=11 —r+5y+42+T7t=9
T+ y+ 2=95 r+2y+32+4t =10
b) {2z 42y + 7z =30 f) S2x+4y+ z2+2t=38
3r+ y+52=25 3r+6y+224+ t=11
20 +2y+ z2z=95 r+2y+32—-2t— u=6
c) 3r— y+ 42=7 3r+6y+5z—2t— u=1
120 +4y + 112 = 28 g) 2z +4y+ 2z — 8u=-5
20+ 4y + 7z — 5t =17
sedy = 2= xizyi; 5t+10u 12
d) {4z — y+2z=1 R v
6r +2y+ 2=25

2. Rozwiaz uklady rownan zalezne od rzeczywistego parametru a:

a)

r+ady+ z2=-a
r+ y—az=ad
y+ z=1

b)

ar+ y+ 2z2=1
r+ay—+ 22=1
T+ y+2az=1



